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Instruction to Candidates:

l) Section - A is compulsory

2', Attempt lrny [iour questions from Section - B.
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Section - A ( 10x2=24 )

Two finite sets havc x and y number of elements. The total number of
subsets of the f irst sct is four times the total number of subsets of the
second set. Find the value of x - 1'.

Determine whether thc proposition [p 
"(p+q)]-+q 

is a tautology.

How many committees of five people can be chosen from 20 men and
l2 wonren if at least four women must be on each committee?

Expand prt +2,1')t using the Binomial Theorem.

Evaluate fl.
x 2  - 7  x + 1 2

. r ' -3x -4

Find the domain and range of/(-r) =

l t
l -

Express the matr i .x A =l  I
I

L-1
-  syrnrnetr ic matr ix.

Does the following system
Give reasons.

4-r+2,-  -10

2x*  v  -5 .

as the sum of symmetric and a skew

of equat ions have a solut ion? Is i t  unique?

P.T,O,

s)

h)

t r l
| -1 I

I
6  2 i

9 - x 2
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i )  What wi l l  be the inteiest  on Rs'  1 '500 af ter
-' 

comPollnded quarterlY at97o'

j) If office furniture purchased on January 5 for Rs'

useful tife oi O y"uts and a trailci*--iii vallre Rs'

value at thc end of the fifth Year?

I  year i f  int i t rcst  is

7,500 has an cst i t t ra lct l

650. what is thc lrool'i

S e c t i o n - B  6 x l 0 - J 0 )

t '2)Def inetheconverse, inverseanr l :onfaqo,S]: : : . : 'astatetnent.Bywri t i t tg l l l t .
following ^t;;;;;in symbolic form' dctermine its validity:

If Ruchi gets thc supervisor,s position ancl works harcl, tirerr she will gct lt

raise.

If she gets the raise' then she will btiy a new car'

She has not Purchased a new car'

Therefore either Ruchi did not get the supervisor's positio'or srrc clicl '.t

work hard.

Q3)Inhowmanywayscan6studentsoutofaclassof l }bechosentoattendclass
onalateThursdayafternoon(andtakenotesforothers) i f

(a) Pawan refuses to go to class?

(b) Mohan insists on going?

(c) Jimmi and Mohan insist on going?

(d) Just one of Jimmi and Mohan attend?

(e) Pawan and Mohan refuse to attcnd class togcthcr'l

i f  x<3

if 3<x<5' Determinc lhc

i f  5>x

va l t tcs  c l l ' r l  : ' t t t t l  / ' '  so  t l ta t  /  ( t  )  is

continttous. Also discussthe differentiability g(r)=lx- ll+lr 2l gr a1''lric':rlly'
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Q5) Define an increasing and ciecreasing {unctirn. wr itc trrc c' itcria .r 'r-csrirrl: rrrc

. 
increasing unJO".r:.asing functionl Fin<l all tho poirrts 

:]:,]:]::], 'rttxitttrt 
:tttt l

minima ortn" runction as well as the correspollcl i 'g r 'axiurr-r 'r u'rl rtt i tt i tttttttt

value for the function f (')-f -6xz +9x-8'

f 1 '
I

04) rt / (")=1 ax+t)

[2 ,
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Q6) Describe the (lramDrs Rrrlc f or soiving the systent of sirnultaneous linear
equations and hencc solt,c tlrc lollowing systen of linear equations:

3x+ y 1-27.  -1,  2x-3y *  Z. -  -3 ,  , r  +2) ,+ z-  4 .

.,/'
i \

Q7) IJs.ing t(.,.{offble*d-g-c-f!nl1a_bulancc mothod of rlcpreciatioru Ealcuiate the book
value to tltenearest rupec lil'lhCcdA of ths second year for the lollowing:

(a) Cost Rs. i 20.000

Trade - in value Rs.5J00

Estimated l ife 25yr

Purchased Mav 3

(b) Cost Rs.3.000

Tradc - in value Rs.0

Estimated life 8yr

Purchased Aueust 16
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